JIINTSO EDUCATION

APTITUDE TALENT SEARCH OLYMPIAD (ATSO) 2015 - 2016

INTSCO» .
STAGE -2 TIME : 60 min.
CLASS : VII Max. Marks : 50
Instructions:
= Fill the OMR sheet completely and carefully.
= Each question carries one mark and has only one correct answer. 4 (one fourth) marks will be
deducted for indicating incorrect response of each question.
= The question paper contains 50 questions to be answered in 60 minutes.
NUMBER SERIES :
1 0, 6, 24, 60, 120, 210, [ 1]
1) 240 2) 290 3) 336 4) 504
1 6
2. 1115, 125, 142 7 , 200, 250 [ ]
2 4 2 3
166 — 178 = 181— 192 -
1) 3 2) 7 3) 5 4) 7
3. 3,4,10, 33, 136, [ 1]
1) 235 2) 685 3) 642 4) 486
4. 10, 17,26, 37, 50, [ 1]
1) 82 2) 64 3) 81 4) 65
5. 46080, 3840, 384, 48, [ 1]
1) 16 2)4 3)8 4) 6
LETTER SERIES :
6. DHL, PTX, BFJ, [ 1]
1) CGK 2) KOS 3) NRV 4) RVZ
7. CD, XW, IH, RS, KJ, [ ]
1) QR 2) PQ 3)ST 4) TU
8. AE,IL, PR, VW, [ 1]
1) GX 2) AA 3) CC 4) EF
9.  BMO, EOQ, HQS, [ 1]
1)KSU 2) LMN 3) SOV 4) SOW
10. G4T, J9R, M20P, P43N, [ 1]
1) S80L 2) S90L 3) P90Q 4) P8OT
NUMBER ANALOGY :
11. 68:130::72:350 [ 1]
1) 210 2) 216 3)222 4) 240
12. 42:20::64:? [ 1]
1)31 2)32 3)33 4) 34
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13.

182:72::210: 380 [ ]
1) 156 2) 240 3)272 4) 342

14. 49:512::81: [ 1]
1) 1000 2) 100 3) 121 4) 1331

15. 23:96::34: [ ]
1) 136 2) 150 3) 120 4) 140

LETTER ANALOGY :

16. BIGE :JQOM :: RYMU : [ ]
1) AGFD 2) ZFDB 3) ZGUC 4) ZYVX

17. FILM : ADGH : : MILK : [ ]
1) ADGF 2) HDGE 3) HDGF 4) None

18. DE:10::HI: [ ]
1) 17 2)20 3) 36 4) 46

19. Rupee: India: : Yen: [ ]
1) Turkey 2) Bangladesh 3) Japan 4) Pakistan

20. Reading : knowledge : : Work : ? [ ]
1) Experience 2) Engagement 3) Employment 4) Experiment

CODING & DECODING :

21.

22.

23.

24.

25.

In a certain code “PRODUCTS?” is written as “ NPMBSARQ” then “COMPREHENSION”

would be coded as [ ]
1) AMKNPCFCLOMLQ 2) AMKNPCFCLQGML

3) AMKNPCFCLQGNL 4) AMKNPCFCKOML

If “CAB” is coded as WUV. How is “DEAF” coded in the language ? [ ]
1) XYUZ 2) UWYV 3) XWUY 4) UYXZ

IfA=2 M=26,7Z=52,then BET =7 [ ]
1)44 2) 54 3)64 4)72

If REQUEST is written as S2R52TU, then how will ACID be written ? [ ]
1) 1394 2) 1C94 3) 1ID3E 4) B3J4

If in a certain language, POPULAR is coded as QPQVMBS, which word would be coded as
GBNPVT ? [ ]
1) FARMER 2) FAMOUS 3) FRAMES 4) FAMOTH

NON VERBAL SERIES :

26.

27.

PROBLEM FIGURES ANSWER FIGURES
O A0 =|A OfA A|IO 4| [a O= O]a O[A O
Ol a| =] O] & A A1 0| O [ ]
A B C D E 1 2 3 4
>_ < < [< < <. < >[ . >
S>[>>[|<><>|< < <Zl<< |55
> |>>|>><>[< > <z |< << >[=< [ ]
A B C D E 1 2 3 4
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(NON VERBAL ANALOGIES :

28.

29.

K Y ot
A B C D 12 3 4
Col®@|%al ? @ lao| X | D o
A B C D 1 2 3 4

NON VERBAL CLASSIFICATION : CHOOSE THE FIGURE WHICH IS DIFFERENT

FROM THE REST :

PIOTUIE o

30.
1 2 3 4

EQUATIONS :

31. Eight years hence I will be thrice as old as I was four years ago. After how many years will i be 24
years ? [ ]
1) 20 2) 18 3) 14 4)12

32. Tree 1 grows at three - seventh of tree 2. If both trees together grow 3 Ft for every three years,,
what is the time required by tree 2 to grow. 7 Ft ? [ ]
1) 7 years 2) 10 years 3) 8 years 4) 12 years

33.  Some chocolates are distributed equally among four children. Each child had eaten four choco-
lates and the total number of chocolates with them is equal to twice the initial number of choco-
lates with each of them. What is the number of chocolates with each child initially ? [ ]
1)4 2)8 3) 12 4) 16

34. A cricket team won 3 matches more than they lost.If a win gives them 2 points and loss —1 point.
How many matches in all have they played if their score is 23 ? [ ]
1) 17 2) 20 3) 37 4) 40

35. A sumof Rs. 312 was divided among 100 boys and girls in such away that each boy gets Rs. 3.60
and each girl Rs. 2.40. The number of girls is ? [ ]
1)35 2) 40 3) 60 4) 65

RATIO & PROPORTION :

36.

37.

38.

39.

IfA:B=5:7andB:C=6:11then A:B:Cis [ ]
1)55:77:66 2)30:42:77 3)35:49:42 4) None
If0.75 :x::5:8, then x is equal to [ ]
1)1.12 2)1.20 3)1.25 4)1.30
If 15% of x =20% of y, then x : y is [ ]
1)3:4 2)4:3 3)17:16 4)16:17
£ 9=22C then “FPTEL cqualt

3 47 en is equal to [ ]

1

1)7 2)2 3) < 4);
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40.

The ratio of three numbers is 3 : 4 : 7 and their product is 18144. The numbers are [ ]
1)9, 12,21 2) 15, 20, 25 3) 18, 24,42 4) None

PERCENTAGES :

41.

42.

43.

44.

45.

The ratio 5 : 4 expressed as a percent equals [ ]
1)12.5% 2) 40% 3) 80% 4) 125%
270 candidates appeared for an examination, of which 252 passed. The pass persentage is
1 1 1
1) 80% 2) 83—-% 3) 90-% 4) 93-% [ ]
2 3 3
What percent of 7.2 kg is 18 gms ? [ ]
1)0.25% 2) 0.025% 3) 2.5% 4)25%
If 15% of 40 is greater than 25% of a number by 2, then the number is [ ]
)12 2) 16 3)24 4) 32
A student has to obtain 33% of the total marks to pass. He got 125 marks and failed by 40 marks.
The maximum marks are ? [ ]
1) 300 2) 500 3) 800 4) 1000

PROFIT & LOSS :

46.

47.

48.

49.

50.

A shopkeeper sells two watches for Rs. 308 each. On one he gets 12% profit and on the other 12%

loss. His profit or loss persent in the entire transaction was ? [ ]
) ] 11

1) Neither profit nor loss 2) 12—5 % loss

11 2

1—% i 3—%
3) 25 o profit 4) 25 © loss
The difference between the cost price and sale price of an article is Rs. 240. If the profit is 20% the
selling price is [ ]
1) Rs 1240 2) Rs. 1400 3) Rs.-1600 4) None
Some articles were bought at 6 for Rs. 5 and sold at 5 for Rs. 6 gain percent is ? [ ]
1

1) 30% 2) 335% 3)35% 4) 44%

A man bought a horse and a carriage for Rs. 3000. He sold the horse at a gain of 20% and the
carriage at a loss of 10% there by gaining 2% on the whole. Find the cost of the horse. [ ]

1) 1000 2) 800 3) 1200 4) 1600
A pair of articles was bought for Rs. 37.40 at a discount of 15%. What must be the market price of
each of the articles ? [ ]
I)Rs. 11 2) Rs. 22 3) Rs. 33 4) Rs.44

DO Cte——
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